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A —> IHP (B) YUHZ(B) FY—2 AL (A) BB | wuFER| S—LE |IE
Ba K
@ o 2 @ o 2 18 20 21 21 17 20 21 21 3 4 21 21
IHP(B) 2 2 - 0 11 2 - 0 21 - 1|3 -3l6 - 6|1 20 20 21 21 21 21 21 21 15 13 18 20
2 0 0 2 0.500 0.500 241 199 05477
D 2 0 @ o0 2 20 18 21 21 21 21 21 21 8 6 18 14
)>O X (B) 10 - 2 2 2 2 - 0 1|1 - 1|3 -3|6 - 6| 2 21 21 15 13 18 20 20 20 21 21 21 21
0 2 2 0 0.500 0.500 230 212 05204
) @ 2 0 ® 2 0 21 21 3 4 21 21 18 20 21 21 17 20
GY)—2AALRA) |2 0 - 2 1|1 0 - 2 2 1 - 1|3 -3|6 - 6/ 3 21 21 8 6 18 14 20 18 21 21 21 21
2 0 0 2 0.500 0.500 179 239 04282
BY —> HP(A) IHP(C) 2O R (A) Bl | —LFE| #FaE | EA
@ 2 1 @ 2 0
IHP (A) 2 2 - 0 1|2 2 - 1 1|2 - o4 - 2|8 - 6|1
0 2 0 2 0.667 0.571
O 2 ® 2 0
IHP (C) 10 - 2 2 1 0 - 2 2/0 - 2|2 - 4|6 - 8] 8
2 0 1 2 0.333 0.429
@ o 2 ® 0 2
)29 (A) 11 -2 2|2 2 - 0 1 1 - 1|3 -3|7 - 7| 2
2 0 2 1 0.500 0.500
=15
IHP (B)
IHP (B) 2
RO EES
IHP (A) 1 IHP (A)
3
1y X (B) 1 SR (A)
REBEQ
YUY R(A) 2
G—2 AR (A) 1
B
IHP(C) 2
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AJ—> RESST(A) <hIEoS5TA) | LEBEHST (A) K—L(A) B TYFE F—LE | Bk
® 2 0 ® o 2 B 2 0
RAEH57(A) 3 2 1 2 2 - 0 1|2 1 2 13 - o7 - 2|15 - 6| 1
2 0 2 0 2 1 0.778 0.714
@ o 2 @ o 2 ® 2 0
<NIEH5T(A) o1 - 2 0 0 - 2 3|2 2 o 1|1 - 22 - 716 - 14| 3
0 2 1 2 0 2 0.222 0.300
® 2 0 @ 2 0 ® 2 0
TtEEISTA) |1 0 - 2 3 2 0 2 2 o 1|2 - 1|6 - 3|12 - 7| 2
0 2 2 1 0 2 0.667 0.632
® 0 2 ® o 2 ® o 2
Ky—L(A) 1 2 - 1 1 0 2 1 0 - 2 2 0 - 3|3 - 6|7 - 13| 4
1 2 2 0 2 0 0.333 0.350
BY—v AEYS7(B) vEDY BB | vvFE | F—LE | JEX
D 2 0 @ 2 0
AEY>7(B) 1 1 2 3 2 - 0 0|1 - 4 - 2| 9 - 4| 2
0 2 2 0 0.667 0.692
@ o 2 ® 2 0
IKJ(A) 2 2 - 1 2 2 - 0 1|2 - 4 - 2|8 - 5| 1
2 0 0 2 0.667 0.615
® o 2 ® 0 2
VEDY 00 - 2 1 0 2 0o - 1 - 5| 2 - 10/ 3
0 2 2 0 0.167 0.167
) &=
RESST(A) IKJ(A)
REBEO
IKJ(A) EEB
REYS5T(A)
TEBEIST(A) 3fi
RES>7(B)
<hxo57(A)
REQ

vEHY
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A —> HATANO(A) | RAEBY57(C) | JU—rA(h(B) IKJ(B) B | oFE | H—LE | A
@D o 2 @ o 2 ® 2 1
HATANO (A) 2 2 - 0 2 2 - 1 1|3 2 - 0 o - - 14 - 6 1
2 0 2 0 2 0 0.778 0.700
@D 2 0 @ o 2 ® 0 2
RAES>7(C) 1 0 - 2 2 1 1 - 2 2|2 2 - 0 1 - - 9 - 10| 3
0 2 2 0 2 0 0.444 0.474
@ 2 0 @ 2 0 ® 2 0
J1)—2 AL (B) 11 -2 2|2 2 - 1 2 0 - 2 1 - - "M - 9 2
0 2 0 2 2 0 0.556 0.550
B 1 2 ® 2 0 ® 0 2
IKJ(B) 00 - 2 3[1 o0 - 2 1 2 - 0 2 - - 5 - 14| 4
0 2 0 2 0 2 0.222 0.263
BY—Y KRB/ A AR F1)—L(B) A4 (A) t*tEEHST (B) f B IYFE F—LE | JEAL
D o 2 @ 0 2 ® 0 2
REA/NRIVIRTFS 0 0 - 2 0 0 - 2 3[(0 o0 - 2 3 - - o - 18| 4
0 2 0 2 0 2 0.000 0.000
@D 2 0 @ 2 0 ® 1 2
KiJ—L.(B) 3 2 - 00 2 0 - 2 1|1 1 - 2 2 - - 14 - 7 2
2 0 2 1 2 0 0.667 0.667
@ 2 0 @ o 2 ® 2 0
A4 (A) 3 2 - 001 2 - 0 2 1 - 2 1 - - 14 - 6 1
2 0 1 2 2 0 0.667 0.700
® 2 0 ® 2 1 ® 0 2
tE2EYST(B) 3 2 - 002 2 - 1 1 2 - 1 2 - - 12 - 9 3
2 0 0 2 0 2 0.667 0.571
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AY—> IHP (D) F1)—2 ALK (C) F1)—Ls(C) <hiExo3>7(B) Fg5 B TYFE T—LE | BHL
D 2 0 @ 2 0 @ 2 0
IHP (D) 1 0 - 2 2|2 0 - 2 2 1 - 2 - - 1M1 - 8 2
0 2 2 0 2 0 0.556 0.579
@ o 2 @ 2 0 ® 2 0
G1)—2 ALK (C) 2 2 - 0 1 2 0 - 2 2 2 - 0 - - 12 - 7 1
2 0 2 1 0 2 0.667 0.632
@ 0 2 @ 0 2 ® 1 2
K)—L(C) 1 2 -0 2|1 2 - 0 2 2 2 - 0 - - 10 - 11| 3
0 2 1 2 2 1 0.444 0.476
® 0 2 ® 0 2 ® 2 1
<hiEH3>7(B) 1 2 -1 21 0 - 2 2|1 0 - 2 - - 7 - 14| 4
0 2 2 0 1 2 0.333 0.333
BY —> t28577(C)| HATANO(B) IKJ(C) A4 (B) B TYFE | F—LE | B
2 1 @ o 2 ®? 2 0
ttEEVST(C) 2 2 - 1 11 2 - o0 1 1 - 2 - - 9 - 12| 3
0 2 0 2 0 2 0.444 0.429
D 1 2 @ o 2 ® 2 0
HATANO (B) 11 - 2 2 0o 1 - 2 1. 0 - 2 - - 7 - 14| 4
2 0 0 2 0 2 0.222 0.333
@ 2 0 @ 2 0 ® 1 2
IKJ(C) 2 0 -2 13 2 - 10 0 0 - 2 - - "M - 9| 2
2 0 2 0 0 2 0.556 0.550
@ 0 2 ® o0 2 ® 2 1
A942% (B) 2 2 -1 1]l2 2 - 0 1|3 2 -0 - - 14 - 6 1
2 0 2 0 2 0 0.778 0.700




